2006 2007 2008
2-
(BOD)- 3.0ppm 3.0ppm 3.0ppm
810 810 810
2-
30 20 20
3 65 3 65 3 65
95 98 98
80 80 80




2006 2007 2008
3-
50% 65% 85%
496 450 450
20 100 100
523 1,007 1,007
4 5 2
3-
45 / 85% 50 / 90% 55 / 92%




2006 2007 2008
3-
2,000 2,000 2,000
80 80 80




12,402,064 11,925,006 477,058([ 153,100 79,800 ]

12,225,602 11,762,602 463,000([ 153,100 79,800 ]
2: 625,691 549,891 75,800| [ 79,800 ]
2- 251,429 181,629 69,800| [ 79,800 ]
237,155 167,355 69,800| [ 79,800 ]

(2220-2222-210-201-01)

< >

(2220-2222-210-202-01)

(2220-2222-210-207-01)

(2220-2222-210-405-01)

480,000 * 1

40,000 * 8

1,400,000 * 3

( 1.500)
1,500

( 2.500)
2,500

( 50.000)
50,000
( 20,000)
80,000

( 480)

480

( 320)
320

( 4.200)
4,200




( )
( 800)
800,000 * 1 = 800
(2220-2222-220-207-01)
( = 80,000
(2220-2222-220-308-01)
= 10,000
2- 374,262 368,262 6,000
32,000 26,000 6,000
(2220-2222-110-101-10)
5 = 10,000
10,000,000 - 6,000,000 = 4,000
(2220-2222-120-201-01)
< >
5 = 2,000
3: 11,599,911 11,212,711 387,200 [ 153,100 ]
3- 11,550,901 11,163,701 387,200([ 153,100 ]
6,522,000 6,231,000 291,000
(2220-2222-210-307-02)
(  692,000)
= 1,384,000
(  692.000,000) ( 692.000,000) ( 0
1.384.000,000 - 1.093.000.000 = 291,000




( )
(2220-2222-210-402-01)
( 3.818,000)
( ) = 4,988,000
( 3.818,000,000)  ( 3,893,000,000) (  75,000)
4,988,000,000 - 5,138,000,000 = 150,000
(2220-2222-210-403-01)
( )
( 60,000)
30,000,000 * 4 = 120,000
(2220-2222-210-405-01)
( )
( 15.,000)
30,000,000 * 1 = 30,000
4,630,240 4,534,040 96,200 [ 153,100 ]
(2220-2222-210-402-01)
(  252.,000)
o6 ) = 252,000
( 168.,000)
cor ) = 168,000
( 168.000.000)  ( 210.000.000) (  42.000)
168,000,000 - 210,000,000 = 42,000
( 32.700)
= 65,400
( 32.700,000) ( 57.600,000) (. 24.900)
65,400,000 - 115,200,000 = 49,800
(2220-2222-210-403-01)
( 49.000)
= 98,000




)
( 49.000,000) (_ 70.000,000) ( 21.000)
98,000,000 - 140,000,000 = 42,000
( 4,500)
= 9,000
( 4.,500,000) 10,500,000) (  6.000)
9,000,000 - 21,000,000 = 12,000
(2220-2222-210-405-01)
( 2,500)
= 5,000
( 2.500,000) ( 7.500,000) (  5.000)
5,000,000 - 15,000,000 = 10,000
151,526 146,404 5,122
(2220-2222-120-301-09)
80,000 * 11 * 12 = 10,560
10,560,000 - 9,504,000 = 1,056
110,000 * 11  * 12 = 14,520
14,520,000 - 11,616,000 = 2,904
57,200 * 11 * 12 = 7,551
7,551,000 - 6,389,000 = 1,162
24,936 16,000 8,936
(5210-5211-420-802-01)
< >
= 7,100

682




1,119

35




